

Spring Admission

Spring Semester (1st Semester/Level 1):

	Tuition	General Use Fee	Out-of-District Fee	Total per Semester Hour	Credit Hours	Total
In-District	\$57.00	\$55.00	\$0.00	\$112.00	16	\$1,792.00
Branch Campus	\$57.00	\$55.00	\$20.00	\$132.00	16	\$2,112.00
In-State	\$57.00	\$55.00	\$100.00	\$212.00	16	\$3,392.00
Out-of-State	\$57.00	\$55.00	\$205.00	\$317.00	16	\$5,072.00

Fees added to Tuition

Kit Bundle Vocational Nursing Tote (attached to VNSG 1400)	\$431.00
Book package for whole year (attached to VNSG 1400)	\$1,356.00
Total Added to Tuition	\$1,787.00

Student Pass Through Fees

Testing/Course Materials (attached to VNSG 1400)	\$658.33
Urine Drug Screen (attached to VNSG 1323)	\$40.00
Malpractice Insurance (attached to VNSG 1360)	\$13.00
Total Pass-Through	\$711.33

Summer Semester (2nd Semester/Level 2):

	Tuition	General Use Fee	Out-of-District Fee	Total per Semester Hour	Credit Hours	Total
In-District	\$57.00	\$55.00	\$0.00	\$112.00	11	\$1,232.00
Branch Campus	\$57.00	\$55.00	\$20.00	\$132.00	11	\$1,452.00
In-State	\$57.00	\$55.00	\$100.00	\$212.00	11	\$2,332.00
Out-of-State	\$57.00	\$55.00	\$205.00	\$317.00	11	\$3,487.00

Student Pass Through Fees

Testing (attached to VNSG 1509)	\$658.33
Total Pass-Through	\$658.33

Fall Semester (3rd Semester/Level 3):

	Tuition	General Use Fee	Out-of-District Fee	Total per Semester Hour	Credit Hours	Total
In-District	\$57.00	\$55.00	\$0.00	\$112.00	15	\$1,680.00
Branch Campus	\$57.00	\$55.00	\$20.00	\$132.00	15	\$1,980.00
In-State	\$57.00	\$55.00	\$100.00	\$212.00	15	\$3,180.00
Out-of-State	\$57.00	\$55.00	\$205.00	\$317.00	15	\$4,755.00

Student Pass Through Fees

Testing/Course Materials (attached to VNSG 2510)	\$658.33
Urine Drug Screen (attached to VNSG 2460)	\$40.00
Total Pass-Through	\$698.33

Total In-District:	\$8,558.99
Total Branch Campus	\$9,398.99
Total In-State	\$12,758.99
Total Out-of-State	\$17,168.99

*This is an estimate of the cost of the LVN program. Additional costs may be incurred. Please note that tuition and fees may increase at any time. Updated 7/15/2024.

Fall Admission

Fall Semester (1st Semester/Level 1):

	Tuition	General Use Fee	Out-of-District Fee	Total per Semester Hour	Credit Hours	Total
In-District	\$57.00	\$55.00	\$0.00	\$112.00	16	\$1,792.00
Branch Campus	\$57.00	\$55.00	\$20.00	\$132.00	16	\$2,112.00
In-State	\$57.00	\$55.00	\$100.00	\$212.00	16	\$3,392.00
Out-of-State	\$57.00	\$55.00	\$205.00	\$317.00	16	\$5,072.00

Fees added to Tuition

Kit Bundle Vocational Nursing Tote (attached to VNSG 1400)	\$431.00
Book package for whole year (attached to VNSG 1400)	\$1,356.00
Total Added to Tuition	\$1,787.00

Student Pass Through Fees

Testing/Course Materials (attached to VNSG 1400)	\$658.33
Urine Drug Screen (attached to VNSG 1463)	\$40.00
Malpractice Insurance (attached to VNSG 1360)	\$13.00
Total Pass-Through	\$711.33

Spring Semester (2nd Semester/Level 2):

	Tuition	General Use Fee	Out-of-District Fee	Total per Semester Hour	Credit Hours	Total
In-District	\$57.00	\$55.00	\$0.00	\$112.00	16	\$1,792.00
Branch Campus	\$57.00	\$55.00	\$20.00	\$132.00	16	\$2,112.00
In-State	\$57.00	\$55.00	\$100.00	\$212.00	16	\$3,392.00
Out-of-State	\$57.00	\$55.00	\$205.00	\$317.00	16	\$5,072.00

Student Pass Through Fees

Testing (attached to VNSG 1509)	\$658.33
Total Pass-Through	\$658.33

Summer Semester (3rd Semester/Level 3):

	Tuition	General Use Fee	Out-of-District Fee	Total per Semester Hour	Credit Hours	Total
In-District	\$57.00	\$55.00	\$0.00	\$112.00	10	\$1,120.00
Branch Campus	\$57.00	\$55.00	\$20.00	\$132.00	10	\$1,320.00
In-State	\$57.00	\$55.00	\$100.00	\$212.00	10	\$2,120.00
Out-of-State	\$57.00	\$55.00	\$205.00	\$317.00	10	\$3,170.00

Student Pass Through Fees

Testing/Course Materials (attached to VNSG 2510)	\$658.33
Urine Drug Screen (attached to VNSG 2460)	\$40.00
Total Pass-Through	\$698.33

Total In-District:	\$8,558.99
Total Branch Campus	\$9,398.99
Total In-State	\$12,758.99
Total Out-of-State	\$17,168.99

*This is an estimate of the cost of the LVN program. Additional costs may be incurred. Please note that tuition and fees may increase at any time. Updated 7/15/2024.

Student Pass-Through Fees

Item	Company	Cost	Notes
ATI Fee	ATI	\$1,974.99	Semesters 1, 2 & 3 (\$658.33 each)
Urine Drug Screenings	SurScan	\$80	Semesters 1 & 3 (\$40 each)
Malpractice Insurance		\$13	Semester 1 (\$13 one time fee)
		2067.99	

Additional Costs (expenses not included in tuition)

Item	Due Date	Pay To	Cost2	Notes
TEAS Nursing Entrance Exam	By LVN Application Deadline	ATI Testing	\$120.00	For questions see Testing Center (Anywhere from \$85 -\$120)
Transcripts	Due at Orientation	Previous School	Varies with School	When transferring A & P to NCTC
CPR for Healthcare Providers BLS	Due at Orientation	American Heart Association	\$62.00	Prior to 1st Semester (Anywhere from \$40-\$65)
Accident/Health Insurance	Due at Orientation	K12 or current medical insurance	\$54.00	Prior to 1st Semester - K12 offers the minimum to meet program qualifications. If students already have insurance, they will not need this.
Physical Exam	Due at Orientation	Student's choice	\$200.00	Prior to 1st Semester - Average without insurance
Criminal Background Check	Part of tuition fees		\$45.00	Included in fees paid to NCTC Business Office
Uniforms (Cherokee Brand Scrubs)	First Day of Class	Gainesville NCTC Bookstore	\$72.97	Prior to 1st Semester - Can order as many as would like. (Tops, bottoms, and jackets). (Quoted most expensive set: 1 jacket, 1 top, 1 bottom)
LVN Student Patches for uniform	First Day of Class	Gainesville NCTC Bookstore	\$18.00	Prior to 1st Semester - \$8.99 Each. One for each shirt and jacket. (Quoted 1 jacket, 1 top)
Shoes (part of uniform)	First Day of Class	Student's choice	\$45.00	Prior to 1st Semester - For safety no clogs, backless, open toe or mesh shoes. (Quoted base price for tennis shoe, price will vary with brand and style)
Watch w/ Second Hand	First Day of Class	Student's choice	\$40.00	Prior to 1st Semester (Can buy anywhere. Cheapest is fine.)
Gas and car maintenance	Throughout the Year	Student's choice	Varies	Not optional
Graduation Application & Cap/Gown/Tassel	Fall Start: March 1, Spring Start: October 1	Gainesville NCTC Bookstore	\$37.00	3rd semester (Domestic shipping included for cap/gown)
State Licensing Boards	Fall Start: May 1, Spring Start: October 1	Pearson Vue	\$300.00	3rd semester- includes Nursing Jurisprudence exam (\$25), NCLEX (\$75), and Pearson Vue fees (\$200)
			\$993.97	

Immunizations & Titters

Vaccine	Qty	Price Per Dose	Total
Tdap	1	\$20.00	\$20.00
Hepatitis B Pediatric/Adolescent	3	\$60.00	\$180.00
MMR/Varicella	2	\$300.00	\$600.00
Flu	1	\$40.00	\$40.00
			\$840.00

Titer	Qty	Average Price (without insurance)	Total
Diphtheria	1	\$75.00	\$75.00
Hepatitis B	1	\$50.00	\$50.00
Measles	1	\$50.00	\$50.00
Mumps	1	\$50.00	\$50.00
Rubella	1	\$50.00	\$50.00
Varicella	1	\$75.00	\$75.00
			\$350.00

Other	Qty	Average Price	Total
TB Test	2	\$71.00	\$142.00
			\$142.00